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Suwgenf 3o} fe ye i puogdm@ e gy wpdh by, Gy, fnp
argg Resfurmmpns Pyl b &oufa Swobpp digm fpop Swdusep b

Tputsfg fpapny bp ghypalpyhby, fnp sk SuofmSlnGne
Piomsbpy mgy Sussfwomsspne fynstp G gGone @ymes b
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437, Dydd g Ruspgp Snabing Slunbguy S s ol o
wpe
2) 2x—3y—2y—3x
Lniddwmb 1-h G jhymbwh.
Bt % mpumpeSimlyy wlopn flpp Rufupliip Sufo g By
Ap Gy oy y sppriSellp g fugd, fumpsig!

i A By=dy8y
Anpky*
Sx=5y.
Uger SerfasmmpnfFyncion G funcfdm%s ghy Jopnfflob S 8fge b
Spufa wil qlgpned, jhpp x==y-fi
 Lmdfmb 2-ry gbymbul.

Swhp x-plu b yepi fpudufnp wpdbpilp—phgnip  x=0, y—
sbrypunplyn eps wpdlpibpp 2) Sudunmpn @ gt 3, Guwbiabp

2.6--83 ,6=12—18——¢6
2.6—3.6=12-18—=—6
Sifpery mlgniad &uofasn oz gy ws dusngs Aunfunmvee b Gonfufin
Suaymf X-file k y-fic Tmp wpdbglp, nppusl
: x=3, y=4,
o wbggplym] wnfud Sfonmpne ' kg, oo’
2,8—8.4—6—12——6.
2.4-3,2=8--6=2.
Uguplogh wd L dufa darnbph ppup Sofowup 3l Ypp Gy -
Yrsd by oy X ne yep mjud  opdbplibph wmwlany 36 gy,

yuenlnny by wofemd Susfusmpne F Sy Swfrmumpnod b
438, U Ampgp ofSubp Shnlyer Swfensepne @ mSSilpf 5

3). xty=9(x—2y+8)—2x}7y—¢;
4), by—dy—dyz_3y12;

+38 y—12 x - y.
G AT ey
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o). 1+1 v=9% -xfy

¢ BT T
7)o (x42)(y—2)=xy-+4;
&), (_"tllf_i__x;)’;_ 2y

439, Whnfip,—7 il jhplyppoeF juidp femiudp peduufms b 2 due
wfon npmly, Ble pEsl g Awiummp il df Smufméps

Lnudond,— 8% e o § i dmnps, SgeSouslibig xemiy pul) (bphpnpyp™
yemy fprmnitinep Shankgug Sesfemnpndp®

xy=7

Ugo Gufummpmeidp wppnsSulmd b ghphoe wB5upm: 85Fh mmm-
$4U Bmaimd % wwbg Bl dupmy thplepnefeet,  appiedy 2 af, o
welfubple by ofup hphpopyp ffl 5ud: 8@ mmwifTp (puf 6 us, jbph-—
popgp bl Tad 4Pk wnwflp (fuf 06wl ghphpepyn fibvE
6,5 uls Upwiofiy shplucd by fnp mfas fubglp® whapny bs

Xelr b y-fr mgl mpdhgbpp, dnpntg dpmopt fhpgmad g
posd b wijmd Kusfwinapnedp, Gndnol B SeofwampdwS pp.bndbpe

Sy jury ghuggrd Aerfmumpduts puednedihpl b

x=2; y=>.
x=6; y—1,
x=0,5; y=6,5,

Uy Wnply ghpkned by -dup mnmffl . osplosf ,l,,.q...mm,w
Buwrifomssnpruealiprp ofbly siohsgus  Runfouwpne Subphy moppbp b5
Spwing]y ffnp myumbyy dbl pnediduS pufunpbl (hpho ncubiyg, h g
guejgeguagg rudmdibpp Pl widlpd ke

Susgmsf x- [ dfunSinpechunfls fuubunfnp mpdhp, dbig pubmed big
Swifmnmpred y-fp oftpmpbppey b gaoed  bp Spw dbl guegy gm-
docdibess Lopoghunfs sl by guibig prdusdlikpp, upng kg
Surfaumpmeddp gl g il fbpupbppey, b S fudfnr
R e s e e R Py l....:.un.!.,.,»
Pfgrre wibpmdlgn b gaed by Kby Swifmumpredy

440, 23ty=3

Londbym] mipy, 4..,.[...".",...“17. y-b dbpmpbpgg,
fpusn o -
y=3—2x
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S z~fs O mpdhg, fumuSiniieg ye=8. Sunfuamapiducts dfe yegy
gredmdp lubup x=0, y=3:

Surgeis] x=ps 1 updlip, fuunstulp y=1s

Upp wapdbglilipp Aimeglghs okl anfud fafuumpda® podod-
Gbpps

Buh gy hnuaym] gupneSlhip, fompey Kig ey g
g [P reSedisbps

Ugp posSmedibpp fpaplyl jb gl ey Sl oy sl $hod

& s

441, LepdmeFymSlp.

Shoinlegusy Bensfmmmpredikpp (peSbp wilmpnibply Shh% e SLf
dbpopbpyoy (fapl Swidap wibp Smplop k) b gobkp  wdbio Dbl
Sordmp Sf gepa ,..usmml. gphg mygneaulyly deonds

1) xty=9
2) x}-3y==11.

)

8) fr—tfm Yy - -

x—4
4) —5— +————i— v
128
5) T—z_y‘—’oi v
1 2
e
i A TRO
2x—10 6x—80 20—dx
xby+e
8) e +T_e
10 3
9 .
) —3x e xy xy—3y
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‘r § 2. Bbrhwbifimys il Awjwuonrful grobpiulws jnsoulp,
Bpp Sl wSurpm b mefFgms mps Busgamed Wog dymesm, dig
Aby qputio - wtagn S paiibppy bl spmatopmed big
Jorpon s gmrnfy Brosilgfinns Yeanmeghym qumiid Grcslghogh qpadpip,
Alup yputons qpu ot Hl"vll'l-ll‘lll‘mulé Lluliing msfisd 4 l-ll(lllw’l-»
U e e
OHimb 2, arthy
—y=2. . .. .(1)
Serf st e : :
Lncdlyos] sy Sunfmpmpneds yefr fhpmpbppog, founfiatg)
y=x—2. ... .(2)
g1 gocikglm Jo xopzr Sa] x.[.s, Yooy mipdleplibp & ammgmd

wpdh gl urhgy ] (2)° 6 ey dg, fuunontg yef
SpebEiltp

U jurmb’

i
2
3
4

'_
tw~al‘<

b e

Yussonglym] (2,0); (3,1); (4,2); k mye Ghmbyp, GumwSutg
Ptilghul gpmBphps FpnBpil dpw getidud Gnp bpha frapgpe
Sunabbpp Qb mfud Swfouupdul nedacdSbpp

Vuwmuniglp wgy (g 7):

Y

94, 7, %3, 8,

B4l wmifus Refucspmidy 1Pl mimmpluif Jb, mimgus smumgmd
Predlghets jyffufp qdumypl Pncsdgpm b gpmPpliophl fmpmembsjodf
o el gmfe

7
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Negpy ghse deprplmd b pp jhpiee fbmlipm], Sbmbwpep wb-
Spuadign Ko i Ausfuswuspidus ghphme quigy predudhpp, dopgbonf
simwiug dymeu popp g medhpp (gpe®plnpli):

Nppimly 2. p=edly

Sx—y=1
Suafuuw prasdps

Uy Awifmumpnedfy umebned big

y=2x—1

Sbpp x=2; y=3, ful) fhpa 1=—4, y=7
funnsglym] (2 8) Lk (4,7) flhuwbpp, pmtabp wofmd  Gailg bl
gpufbyp (25 8) dopp lubife myn Whmbpp dfuybog seqfps

L lunfmumpe [Pyt diwgod  pednedibpp boplyl o sostiog, og-
wfbym] qpmBiibg: Fpedphh prpmpbyng ol foopfuebpp
by mfmd Sesdemumpdnt dbl gre gy predadilpp ‘

462 Qunmphy Shmbjuy SufuswpndShph prpg  deedSlph
apibplihppe
1). y=2x;

2), y=2+1;
3). y=—2%;
4), y=—2x-3;
5)s z—y=0;
6). x+ty=9;
7). x43y=6;
8). x—2y=3.

443, Dqubpmy Smpmpy  pngph (4) Sefmump fa%  jndned
apebllpys pabe y o fhpp X=% b smncqlgbp  wpgmbep Syl
dpgugrsjs Uil wpfusanipp fuomepky Twl eyl gheprad, bpe

1
x=2L

Puonfupupded By xofp b yp Sunlup sy wpdhpilpp (4)
Sursfusren pelenap: ’

444, Ymeh fulgppp pudbp (7) Auwwumpdut fudup, jbpp x=2,
fpund x=0,55

445, Nqufby] (2) & (6) Sunfmmupuedibpf (ffig, €42) puedned
Sbpp qp=dpiubply, apbyke oy Swfuempndibpfs Sf gupe pedned-
Sibpp b wogme g wpqguesglibpp wnnegbybp fupldat dffngeds
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§ 3. BbrlwGiwys jbrhm fudwuwrawBith vpusinf.

446, Whneqry ghplipfe duwidp 12-f% A hhufy whghed b df
wirfuinidnply 30 ML e Prasdys Sliplne Furd Kb dplnsgs f-
iy b Il s judp whglined b df mepy sfmednply 501
i Prants dundlfy guiboffs ko Apy g Shmufopme Bt dpis 2-py
wifmemlnglyp fSunify 1- pos

Lodnul. —bpuhmlbive waoffle wifmngh whgmd Swhwqupip S
s, Junkipl B v (Suplué  ghpllde dedp  12-pg)s Ugdd
gy Mg Qugiby Asmdwinpned, (whged Swhwmupip Safwmp b
dunsbemlfy b wpeipne s wpmugpyps),

3—30t

Yupmapliing wgq Swuoupdus peddat qpaplp (35 9): Thig

qlunking, drp gy gpeppip bl Jp meqly ghd:

Uydd fuwndblep jhphpnpy wimmdnpfyp. opdda’s Swifmumpndp,

gy wimlapfyf Awlwp wigmd Ewlmesptp S b, pul Fodumpp

t—2, acunf gupdduts Sufummprdp fph
S=60(t—1),
Uy Sanfauspilot gpu-
¢ Bbip vnefoubu ypsp df
meqly gfd, puyg s

wifbyp ofbS whigmSs fuchibe

s gy ghphme gpmBply-

M Eead i Tbpp Swenifud b M b-
wmmeds

P fup 3h Ll fap

oy St fhmfp fanp-

plummihpp  punfupmpeed

4 L @B dbl b [Fh dpen S
S0 Jummpnedpy e pmfshmk wyg
L vo fomp quninfoed b dfmdu-

o .
: [l0  dwlwh @F dby & Bh dmes
3. H oW apmdpip dpme M fhmp
*ie knapryllnnnthply S-p smm-
20 Ybpugincd b wpmmdnghyfe
4 wl AeaTigfoug duas Glosfy Slommnfiw
pmeflgmeop Re-py, fpuf to
2. 9. wmuippu b dwdp 12-py Jff-
sk Rmogfrgmedts whgmd dw-

AuSialplffugy (S=160 fuf, t="5 dwd): .
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Ugonyfrum] dbiog sbuloned Wip, dup  ghploe  wiSujpmm] jlphne
R furnuprridsbply db)  wkmpabbph mll dpeyh dilsbub. wpdbe,
i dpmdudnSenl  panfmpepnd B PR M b B dmes fufu-
wsepnedy (drprifibote hplne aegly g8k Seumfnud b dfugs Jf il

e )s
b23
dup (2

b mbutpy eplhne Sunfennpnedshy  djpmby Sl S

Bplynphts) witpudlye b fuanegly ugy bphne Swifuwssg ol
S e ppa by Uy qpoGplibps Ssnndat Gl fonprie

Yk

S wgfn b wliegnbple w i mpdkpthpp, fapatip  paj-
prpned b 5 fbly b Pl djea Swdmampeedps

LU0VARY, —ehph Jhrhme Ran|muwmravdGhch dby gsBijng whhigs-
Gbyp Yhin]nuyl wedblGbrd nifbl, wym Grwf Yoplod b8 funjwowraod-
Gbrh upushds 5 s

§ 4. Lwy nulbbrh uhushidh wlwjhehhubmb oudnufp, wrsmfulwb
jmuinl’ pogpusiwt pongad.

Thgmybu wiop wmbunlgy ghplhme sy byl Suummpned-
Shp) bl qpmBpheist  gudndy gy spepy b pegy
utuSnesd & pinedgm] funspfnd gbugpp, Solunal ghegened s
sz funep el fyfips gy mppuntmam] by Soovempacdbpp opuabdg
nojrpngeapy gl B saSousy foun o pbin

L16.py [lgply grep mbuwg, fup fhple anfmadnghidpl fu-
i by A-py dpush Kuligbupdut Loy wigad SwlmmupSp dplins /i
s Uy ymeeesommmi Ay gleikne G Tibpl dhY S5 melep dfliiome g

{ E Ay 144 Ly {
=pdhpp, neumft ¥

s=30t Lk s=50(.—2)
Busf v pmeduliply hupng kg qply
80 (t—2)=301t.

(hrpefShunle jb@l 2 dkSme@ymbibp  wmmbd S mnns s -
woap b df gy dibae i, mmgm g ghplne SkdnePradilgi fpeg
by R e ) -

Ypurgfouns] wimaromed Kiog dlily  wsibosgmm] dhly Suosfususpn s
wpmupuliy by Qifwsgpnfs mgu &bfe  wpunsguncdy fngefred b b gu-
Slip gy g bl

Loeblbym] wmnsygs] sl Suusf siswspevesdpy G St g®

© 50{t—2j=30¢
50t—100-=30¢
50t-4-20:=100 7
§ 20t—=100
=5,
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U qusgfrre] wfsamilenpfichips 5acinfuaedp mbyl gh nkined Jundp
12-fig 5 dund Sbumms Dmpeghugfs Japniibyfy Shnmnpaff jactip wmwtatp,
perfoalyess bo mifsmd  afrmbiad)s wrsupre Bkl - sthlSe mu bl d49
nley

g =5, fumwiiyg*

5=20 . 5=150 /.

447, Lmedbp Shulegen

qnn o gl s

o aihugpaihpfe puge

3). Tx—y=8;  Sx-ty=12;
7 4). 2cty=1 - I(xty)=2y;
5). .;,+_£,=5; x5y —5)=13:
§ 6, Bbfush wrswfundp shquprdwl bymbule].
Popsimlputiml mibmpmp wpmogundy pappamdet by
guen pfy b mgmmgapdinede Ullyp guss ngmwgnpsdasd b Shulguy g
qeimlp, Sejmnmpnedibppy dblp jobned b spoopudet 5@l
wihmpmfy dbpmpbpey b omogud  wpdhpp  mbpugpeed dgpes Ruue
orpiiets dbgs Ugy jhquibming  mbhejibphy dbys wpmwguucd b
Drsmbub o wyn qwlwhp Yaploul b shyuprlwé jbqwiwl: 5
Dpfsenly’ smifsd b bessfummpuifilipfs Abmbgey ofumblp—
xfy=17; 3x—2y—16
Lacdly wyn upumbidp® ngmbyns wbymgpdat  ghyebufg, X-%
ez pulyyre. bulemp wnmpS Sufovapnedp edbivp Xefp Bl g,
urimrsterning®
x=17—y . . . .. (1)
Xee hondop wrmmpumd mpdbpp miqwopbip  jhplhpepy Sefuuupe
s ], lpumcomting® it ;
3(17—y)—2y=16,
51—3y—2y=16
- By=-—35.
L Y=t
XoB wemsmpme, Aoy’ y=T—mpdbpp  whymgpbig (1) Rsjue
asipdnt b
3=17—7=10.
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¢
Dyumpund umwguieg' x=10; y=7. (uunigbgha sy qommos
pruiiibpp, mbpagpbri mpg beolaumpoefikplh i)
408, Lardlip Awfuwumpnitbple Atwmbjosy wfunkBlpp, gl
ebmngilat hqubahn]. |
1) x+ty=10,
yY=x;
2) xty=12,
y=8x;

3) xty=5,
y=3x—17;
4) 5x4-2y—13,
y=xtsy
5) 8xt7y=—34,
y==2%;
6) 4x—56y=1,
x=2y—2;
7) 13% - 5y=1,
y=21+1;
8) Tu=—3y=32,
v=2u—9;
9) 8zf-5u=21,
u-}-5z=13;
10) 3x-}-7y==17,
1—y-}1=0:
11) 2A—5B=1,
A—B=s5;

- 12) 85-4t=0,
5S—t—23;

13) 8x—7y—14,
Ex—y=2;

14) 1iz-}-6u=—=2,
Z==8y—1,
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cubhgllrp Amjuuurkglul ]b‘l‘mﬂﬁml{.

Vuflodamplpusjued adbify gum g RN S R — )
shnunalyp, weyme s Soukmfs mopsmingpbned B Sunle Shunleguy ghoguomiizy
g gy g mgumugnpbnad b mxmlpl e platp S
poslidipp wfumbiibp redbpfse By (hnmbubp ogmd b wifogsh o
swfulwl jhnwlel fulrofoajalol quuloriod dpongn], fadd' sqpuisg gurer
whuey qardwbhglbrh  fwlmuwrbgluwl bqwbule U jbquimih hpee
Bymiiop mpmpnbiip npfimlibpmde

Appusly 1. qhgeeg wnfub b Shanlsyusy SsafuwwpnedSbph upumbdg®

Sxf-4y=10.

7x—4y=10

Uger wpumbolp gnedkyme Senleap  wiiehpudbym b mpummpuly b
Sibiplyg Sl b oy bl wUSwgmny dbl Swafmumpneds
Pondphing smfud Susifmmapredibpl  whgud wn sGgpal y s
ponialiny wigodibpp fnugeint, k dhlp fumabuig® .
5 3xf-dy—10
7x—4y=10
105—20
x=2

Shyugplpe] ummgfud x=2 wpdbpp, wfud Suwnapm@bppy
Ablh, nppumh® wrwIpiuf 4B, Gusmmlisiop®
3,24 gy=1o0.
6-f-4y=10.
ty=d.
y=1.
Apfpimy 2.
7x—6y=29
3x-}-8y—23.
BLPh gped Sunfuusprdibpp .;..,..r...,.ﬁ.e, g mhu gk g
& ofap dihp 3 mpasgundps Y fanpy opfheld yep deisgu, dn-
ol kb Sum gl Aporfsumpmedibple 859 melikp Sufuriup gapdu
Upgubp® Rsbmnel GpuSGbpmf: Sk wfguy qhupad gaileingd Bg
wpumnguly yop, wibpmdbys b Gpw grpomljgibpp  Asfwusaphgby
P Runilusp mnmfps Sunfuspneidy pogduupumnlbing 4-mj, ful ghphe
prpyp 3-my b Spupy Sbmn grudpbig wigenl mn sl Uy gne
anpe gpdned b Ak juy flps

83



285—24y—116

- 7x—0y=29 | 4

+9x-}-24y=69

iiram nlien Froe
x=-".

Y- wmuispme. Swdmp wbgegpbie X=5 wpdbpp' wfud Sofue
wwpnulihplhy digfpy npplml hphpepgh dh9
3.5 8y=—23
15-|-8y—=23
dnplg
8y=—8
y=1

Mfuup sh Sudnyplby, dup smmgfus $=5 b y=1-f mednedilpe
purfwpwpned b mms 2 fwfemupndihpp:

FSNUORRENNY,—Sywd npfpiunlipy ghphocd b, fnp qupduwlyfgide
pb Aufumphgdut Suldup wbhpudbyn b qumily wpme gudul g4
b b punfe ,nl.émll[v,tl.,.[. -nﬂyimu[m'gr ,.uq.l....,.....[..l Plidp b e

5% df burfsumpae by ey Beaslsny s’ pdalyfgtpfe
1pwgneghs ,....y....,......qu.b,...q. _
Nppuimly 3.
Sx--Ty=43
2u-18y=—58

Ugunnbry Suspidmp b mpmseguly x-pe ‘g Saafurp Aus fuesapleg'
Abp Upw gupbelibgbppr Umlpfs x-fp guopbulpgibpn  ghphn:
sprolets b, vewnfs fnpubugp Spets dngiggib fpep, wibpnd
b Al me dblp et Arbibt; ng o by g S o
"l brlp Jhplpapap® (4-6)-nde

prolp pwgdnagemlned kg (
Cygugfours wssemedd Bug®
'5x+7, s | | =2 |- 20x _14y—_86

y=4.

sl o] el T ppred amlned kig® ge=3.
4409, Luedbiig bmbigmy Susrfmuspmon’y iy gpbumphgbph A ffu—

enspbgiuits ghyulmm],

1) x-fy=43,
= x—y=15;
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2) 2xt5y=43,
13y - 5y=17;

3) 8xf-ry=41,
Bx+oy=21;

4) 27 L 70=234,
47— 3u=0;

5) 2x-4-9y=65,
4x--3y=25;
6) Sut-2y=1,
7u+4\,=8;
7) 1256t
1654 9=

8) 6x—7y=32,
8x—by=24;

=24,
187 19y==18,;

10) 14A—9B-}-2=-0,
358 —12B=45.

- A dly Shimbegesy Bufunmpmidbpp, Sosfunpeg G pbp
orsm s funds e pah g dBbp (wpisgunedp famophy iy npfe
Tl hrcidinp milbimbepidg jlquSimlg): L

> |™

=6 s o —

LN

2x-8y=36; 2x—y=4d,

Uguanbosg fuapligp gle bfppurnby wmbguay ' hoymislyp, s prifhimbe
sbphprp Smfumwpdut y-p gnpémbfgp 1-5e
Bhplyprpy hajmumpneidfig wenubnd £5p°
y=2%—4 ¢+ 10 0. (1)
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Squppbym| wewlpl Smfunmpdu S5, fomutiu et
2x-}-3(2x—4)=36.
2x-}-6x—12=36.
Sx==48
x=6.

(1) Suafmmapme @ yuts B39 mbnugplym] X=6, fuumawig)

y=2.6—d=—12—4—8; e fu,xeb, y=5

2) BLLdy iy

T B Rt

5x %y

S
3) )5:|-z+3=2

x—z+7 .

xz+8

=15

=0l

4) 0,5x10,26y=36, A

1,25x—0,2y="5;

5" 2uf1 3

6)

7). (xtyP—(x—y) =4 (x—2) (y+-2),
3x—By=11;

8) (8)—(s—stt)=(2t} s,
(Bs4-1}+—25 (t— 1)=7,;
§) 43— (u—3) (v46)—46—yy,
(u—5)+ (v—6)*-2uy=(ufv)*—83;
b6



10) x—10  34x

TEy e
Geland e 0
Sa T oy T (v
)
12)

23—10  20—4x  6x—30 °

13)  3ud-4 1, 6ut9 Butbv
S g

4 T r—u '
6u—3y _, 4v—9 8v+7 |
2y—38 LB 207 il

14) y—6  yt6 10
x4 14 1—x°
5 10 e
. T—& T Xy xy-—3y’

15) s+2 s—2 t—s
()] (2] (i=s) — o4
45} 5t=11.

TRSNUNRRBNNY. —15epy  wpplmblh 549 Ymfs mnmQft Awefuume
gy dusfe duup phpbe phnfulnep Supmupuph b e gopybghe:
e
§ 7. Vor pojopelwhlbrh oot bqubwl.
Ynbiysny woiflyh  pupy AwfmpePiibph o) Sy Fyul
Gunddeap bt gl Somglabsy S sfrosfor fusa ek .
Apps afrprip wfund b Abulgug KufuuspeeSdph ofonkbdg




Vywhllieg®
: 1 2
—=u bk —=y,
" ¥
gy qhuprod wifwd Smfuumpudibpp bpligmahS Shnlguy wbopp
: 1
u—i—v=»—»6—. e (1)

20 —y=

SRR

Uy Sunfummpnedibipy  phpncd bip plnhmineg Ko pupl L
snugifmd Sufunmpn: dubpp redned Up & yep Slumlelp
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zu=7, x-}3y-}-9z-4-27u—58,
ut-x=5; xt-4y+162--64u—112;
498, x+}-2y—s8 501. xty=5,
y+z=2,
.zfu=0,
ufv=1,
xtv=4;
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13, 1) 5(a+t-b); 2) 4{a—x); 2) Yx—y); 4) c(a—d):

14. 1) 3(c—1); 2) x(b+1); 3) x(x—1); 4) x*(x—y)

15. 1) 2a(3x—y); 2) 8ab(c+d); 3)—2x(2y+3z)

16. 1) 6a’(4a+'3b); 2) 4xy(12—7y); 4) 111ab)3at—5):

17.  x(m—n-4-p).

18. 1) 2(4abx—3acy+5bc); 2) 3ab(x—y—1):
3) —7y(2x+3+44):

19. 1) 6y5(10x2y® — 5x% |- 4y*); 2) 13a’b’(2b* — 3a?b? — 10a*)
3) 7xy(—y'—2xy-+x*)

20. x(a-+b—c-+d)

21. 1) 3x(4ax — Sab+ 5b?— 10); 2)— a’b(3+}-12ab4-25a2b! |
+4-86a°b?):

22: 1) 7xy’(4x*—7x'y—3xy’—y') 2)—13a"(8x> —ax?—2a’x—a®)

23. 1) 6x(0,82°—0,9bx); 2)0,12p(7q—4v-+-8) guud 11p(0,07q—
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25. 2a°}-4ab=—=2a(a-}-b)=29,76 ui*

26. 2nR(R}+H):
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L (xty)s - 41. (y+x) y—=x)
31 (x—z)* 42. (3x+2) (31—2)
32. (a—3) 43. (7a-+-9b) (7a—9b):
33, (x-1)% 4. (14x) @—x):
34. (x—2)? 45. (5y’+2) (5y'—1)
35. (7c—1)* 46. (6x'z*}-5y2u) (6x'2*—5y*u ).
36. (5ab--3c) 47. (x—y) (P4xy+y*)r i
37. (a*4-b?)% 48. (x+1) (xa—x+1):
38. (2p*—3qh)% 49. (4a-}-5x) (162’ —20ax-25x2)

50. 1) (2x—7y2) (dxfldxyi4-4oyt)
. (x—5p) 2) (y—the) (rybeiyiztut

+21%2):
Al ( s T) " 51, (ab’*42) (a’b'x'*— ab’x’4-1)s
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75. (x4v) (a+b)
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352.
353.
355.
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400. 24:

401. 6450 matts

403. 5 mp

404, 40 gueyy ke 80 gongy
405. 14 n. b 42 .

£12. 17.; wihs

413. 29 wmg, dfe wagued

24 rmmne
LR
. Rr—=14 4.

416. 50 gp
417. 300 up.

418, 17 wmuspfsr
419. 6 wmopler

422. 44 w. b 36 w

1
424. 7 ——
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e
427, 12m
bL 2s
428 s = a0 b= T
2s
e
atb
rot e R g
2s
= —— h
15 a-+b
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L
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432.
447.

448.

3) X=2; Y==6
4) Ym1; Y2
5) X==8; Yo
1) X=5; Y—5
2) X=3; Y=9
3) X=3; Y==2
4) X=1; Veomd
5) Xe=3; Vet
6) XKe=d; Yo
7) X=2; Yeub
8) U="5; Ve=1
9) Z—=32 (==3
10) X=d; Y==b5
11) R==8; B==3
12) Se—t; Tan—8
13) X=0; Y8

14) 7=0; u.zi_

1) X=29; V=14
2) X=4; =7
3) X=2; y=5
4) 7=3; U=4
8) X—1t Ye=0
6) U=0; V=2
7) 8=2; T=—1
8) X=3; Yeu—2
9) Z=1; V=0
10) A=3; B=5
2) x=—12; Y=—10
3) X=3: 7=5
4) X—20; Y=100
5) U=7 V=—23
6) S=6; T=3
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7) X=%; Yomb
8) Sem2; Towd
9) U=6; V=7

10) X=0; Y==—of

11) U==>5; V=9

1 1

12) X=—y Y=5

1 7
13) U-E; V=2 o
1 z
14) x=22_; de.
15) S=—1; T=3

1) x=1; Y=2
2) X=6; Y=2

1 1
8) X=§—; Y= =

B
9X=Zv=1

8) I=2; U=1

6) X—=4; Y—3
) (] 19
7) X_—-__B__; Y,,T

1) X=3a; Y==2a
2) X=a-tb; y—a—b

atb ., a—b
3) X=210

s V=—2-
" 4) X=0;Fy=a
ab ab
) x—a+h’ Y——-;a
8) X=1; Y=o
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i at+b a-b
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T T
20) Y=ac; Y==bd
nt
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2) x=-=2 Y=—2 k Z==0
3) Y==8; Y=2 k Z=1

480. 1) X==0 Y=3%; Zem)
2) X=—17' Y=0 L Z==i

491. 17 wd. 30 ud. 42 ud.

492, 178

493. 5,5%), 5%, L 4,8%,

494, 18°, 55° L 10%7°

495. 10; 12 i 15

495 2 widfun

497. X=1; Y==2; 7=3;

498. Y=2; Y=3; g=1,

489, Y=2; V=0; /=3; U=1

300, X=+4; V=3,

501, Y=d; Y=2; 7=0; (=0

502. Y==1; Y=1; 7=3; U=1; V==0



8Uuuy
L0kl GRO2MY

Luslrmbmewhml wramfwpsaipjocbfibrp  fimlmlws  dnjuhajun -

povlilibzp

, by
L lmegldpats mpmto e FmSSbp . . . L L. 4
2. Upensun guovss.  gruts. &hssosforsfsone [Fguu’s i,zm'.,,..l,...p,..d.ﬂ [
3. lwlpubmplly Spiunkut Repghpp . . . . R ey

4 Sutopmibgifserlynts  mapessoss s By Silulopes ..,.....",...,i.b,,l.
Wk pmd s R R e s N ?
5. Linghmimep mpmsenpfip  olmydly gops pbpbyp o
6. Ybpudnud pubmdbbpe] . . . ... .. . R 9
7, dpunjrplo gl . . * . L L. ..., Wt . 12
8. Uibomidhid phghmbnmep pudmBmpmpp . . . . . . . ., . 15
9. Udbufngp pandmmamplys . . . . ... L ... 73
10, dwbopubegfualyats fumepolibpp y.ui...,mm o hwlmedg . . 17

17, Swipmbmyfulpm  fomnpulpy  wlpng) oS g @
geepe phphyp LGN S R 21

12, Jwpmbmpfolpl fuanpulibph  peqplasgeoinulp b ,..4...
Babwpabp e LS e R R B R e 24

L0k BLPULAPYG
Bneghl wushbwblp hmdwumenilibs

1. Bnm8fss wuwnpbmbp Spmilaga Andumpratliby . . . . . . 30
2, Qupdoflimiubp . . . . . . ohom s el A L .. 80
3. Bl g iograelipoy] dfmiiSom g Sofuempneibby ., 38
4. Swmnmyll gupdmlfgibpm] Swjmempn by . . . . . ., 35

50 b gusy Bunframapentabpfy b9 dwpmpbghp mumbphy duplh
by, plogm Sy .r,.u.sl.,s. bepk Sopaif .mup,...m.b,. 36
6, Munlpibp . . . . SR R a7

86



R T TS
Dnmghl wushfimh fmjwaoraulGhrh uhushf6hbr

L Uby Smfaumprad bphae mYbupmmy . . L
2. BiphiSenpin dbf Sarfmwmpduly qpmBhhulos pumdy | |
3. Beplmitmpm gbplon SufuwsispmSbgfy apumbd -,
4o Quimomprifbph ufinnbdls mhmpfnf o s rednidy e

s gada fpmilml, pugogpdnt digagml . . L
8. Uisbupnf mpwgunnily mbgogpufynts bqmiomluf .
Popdwhbglhph Cofmomphgiuts gty . . . .
- rp sprimfoslm Vb desd b gl
B Mgl IS L S
9. BhmuNimym fhphp Sofwwmpmiiby . . . . ...
10 Mo hpkp, oo S e L e
12. Feaglaibaspon SumsfursiopreBibiph ufumbiiby . . . | | i
13. Vmscwnfomiibp , . . SRR

G

47

50
51
538
T
62
68
71
72
78



LYBSY U LrP0YVER

Sy, s

vy s Swdumsd b Tbmp b hapgag
hr 3
iy 4, 2
4|21 4 Saufunype 4 fyfupet dundfuy Qfppt
41 3% e op nhuygoesd
9| 6y ,p(%+3) r(§+=h— zr)
14 | 11 % Fa°—20az?):(2x—a) (58%—2a%2):(2x—a)
27 |fu 265 ~ 266| mpfivelyikple Smdepbpp | sling b piky Ybpolf
wufavay W guefmd g8p nfulmg, npfal’
a
,‘;.'_2
266 gy
B,
28 | ju 274 3—9 npfuullph Awdwpe) yhimp b by hppbi
hpp wfag Ky gpsfud adf glafmg
3 . 4z X t22
a2 | fe 321 X— = 5 x—5 50
32| 9% 51-py g 325-pny
36 | fa 387 | xy=yz=xz Xy=yz—3%
3
37 | o395 | 8=V.t— ‘% Sy Eg
39 | 14 4 dopmgky X-p, dnp punm-) dnpmby X-p grennom
frewne. ol b Yot &
39 { 16 4

| el brdsarioe
i

lsporprmass






BBBBBBBB



: = k w ‘11‘
$FUL 1 0o 5p WNG. o USRSy

i

Abl
i

-

gt 5 LB ] Pafouas kuura - Al
lNo wmatemathre mns 7-o#f rpynnbr =
E Yacrs I :
: RNTEBPA
- Tocuspat CCP Apmenun
Opubanr—1983



	001
	002
	003
	004
	005
	006
	007
	008
	009
	010
	011
	012
	013
	014
	015
	016
	017
	018
	019
	020
	021
	022
	023
	024
	025
	026
	027
	028
	029
	030
	031
	032
	033
	034
	035
	036
	037
	038
	039
	040
	041
	042
	043
	044
	045
	046
	047
	048
	049
	050
	051
	052
	053
	054
	055
	056
	057
	058
	059
	060
	061
	062
	063
	064
	065
	066
	067
	068
	069
	070
	071
	072
	073
	074
	075
	076
	077
	078
	079
	080
	081
	082
	083
	084
	085
	086
	087
	088
	089
	090
	091
	092

